B VCE & PDF https://lwww.geekcert.com/h11-828.html
' 2024 Latest geekcert H11-828 PDF and VCE dumps Download
: GeekCert.com

H11-828°%As

HCNP-UC(Fast Track)(Unified Communication (Fast Track))

Pass Huawei H11-828 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/h11-828.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Huawei
Official Exam Center

@ After Purchase

@ Guarantee

O Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

Latest H11-828 Dumps | H11-828 PDF Dumps | H11-828 Study Guide 1/3


https://www.geekcert.com/h11-828.html
https://www.geekcert.com/h11-828.html
https://www.geekcert.com/h11-828.html

VCE & PDF https://lwww.geekcert.com/h11-828.html
2024 Latest geekcert H11-828 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

When eSpace clients connect to an enterprise\\'s internal network over the Internet, which of the following services
requires an SBC?

A. Instant messaging
B. File transfer
C. Voice call

Correct Answer: C

QUESTION 2

The SRU main control board of AR routers is the system control and management core, provides four FXO ports, and
supports concurrent access of multiple channels to the PSTN.

A. TRUE
B. FALSE

Correct Answer: B

QUESTION 3

About two-node cluster backup of servers such as the BMU/ eServer, AppAgent, and DB, which of the following
statements are CORRECT? (Multiple Choice)

A. The two-node cluster works in active-active mode.
B. Only the Linux platform is supported.
C. Services are interrupted during an active/standby switchover.

D. After an active/standby switchover the standby node becomes the active one. When the original active node
recovers, services are switched back to the original active node.

Correct Answer: BC

QUESTION 4

The eServer of the Linux edition uses the () database.
A. Oracle

B. Mysq|

C. SQLServer
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D. PostgreSQL

Correct Answer: A

QUESTION 5

You can configure IP phone linkage by creating a UC number and binding the UC number to an existing SIP number.
The prerequisite for implementing this function is that ().

A. The IsJoint parameter must be set to Yes during the SIP number creation.
B. The SIP number must be password-based authenticated.
C. A number allocation policy for IP phone linkage needs to be created at first.

Correct Answer: A
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